HC % — H3hEET

fEENFRIERELT BB ITER A

C REEIEE
T T
_____ - \
O REBxR
BB HL AR (mm) @20 @25 @32 @40 @50 63 @80

TRREE mm 40 50 60 80 90 100

1EEIRZ X %EhX

BRI EIREZIZ R E A (1SO-VG68)

Ej it R (HCF) » iR EE(HCS)

FRRNHEHEE kgf/cm2(kPa) 2 ~140(200 ~ 14000)

ERRE @ -10 ~ +60

AREME ik R

CEIETEMEAS
HCF 50 30 — B - Z
1 2 3 4 5

8 & Al RES &L 1T 2 B um B 5C | | &8 17 2 ‘
20 - @20 mm @20-5~30mm s @ HRECHR « RAERY
25 - @25 mm @25-5~30mm Z:EJ?EZSmm
32 - @32 mm @32-5~60mm L : RJEH 50 mm
40 - 340 mm d40-5~80mm ’?
50 - @250 mm @50-5~90mm B : SV EFEY
63 -063 mm @63-5~100mm
80 - 280 mm @80-5~100mm

HCS : fiim% %
* 8UEIAR 20~063

GL : ZfIsh GR: AfISMF




HC %% — HEHEET
BEX

CEER
B 1 kg
1% @20 @25 @32 @40 @50 @63 @80
BE | HCF HCF HCF HCS HCF HCS HCF HCS HCF HCS HCF
12 B B B B B B B B B B B

5 10.64|0.69|0.88 |0.93|161|1.71|1.72|1.82|2.00|2.20|221|241|2.78|3.03|3.27|3.52|4.24|4.69 |5.28 |5.73|7.46|8.31

10 |0.63 | 0.68 |0.87 |0.92|1.73|1.83|1.71|1.81 |2.15|235|219 (239|296 |3.21 |3.24|3.49 |4.48|4.93 |5.22 |5.67 |7.80 |8.65

15 |0.75|0.80 |1.02 | 1.07 | 1.85|1.95 | 1.98 | 2.08 | 2.30 | 2.50 | 2.55 | 2.75 | 3.14 | 3.39 | 3.71 | 3.96 | 4.72|5.17 |5.90 | 6.35 | 8.14 | 8.99

20 |0.740.79 |1.01 | 1.06 | 1.97 | 2.07 | 1.97 | 2.07 | 2.45 | 2.65 | 2.53 | 2.73 | 3.32 | 3.57 | 3.68 | 3.93 | 4.96 | 5.41 |5.84 | 6.29 | 8.48 | 9.33

25 |0.86|0.911.16 |1.21|2.09|2.19 |2.24|2.34 |2.60|2.80|2.89|3.09|3.50|3.75 | 4.15 | 4.40 | 5.20 | 5.65 |6.52 | 6.97 | 8.82 | 9.67

30 |0.85|0.90|1.15|1.20|2.21|231|2.23|2.33|2.75|2.95|2.87|3.07|3.68|3.93|4.12|4.37 | 5.44 |5.89 |6.46 |6.91 | 9.16 |10.01

35 - - | — — | 246|256 250|260 |3.07|3.27 3.23|3.43|4.07 432|459 484598643 |7.14 |7.59 |9.93 (10.78
40 — = | = — | 245]255|249 259 |3.05|3.25|3.21|3.41|4.044.29 | 456 |4.81|5.92(6.37 | 7.08 | 7.53 | 9.84 |10.69
45 — — — — 270|280 |2.76|2.86 |3.37 | 3.57 |3.57 | 3.77 | 443 |4.68 | 5.03 | 5.28 | 6.46 [6.91 | 7.76 |8.21 |10.61|11.46
50 — = = — | 269|279|275|2.85|3.35|3.55|3.55|3.75| 4.40 |4.65 | 5.00 | 5.25 | 6.40 |6.85 | 7.70 | 8.15 |10.52|11.37
60 — — | — — |293]3.03|3.01|3.11 |3.65|3.85|3.89|4.09|4.76 |5.01 | 5.44 | 5.69 | 6.88 | 7.33 |8.32 | 8.77 |11.20|12.05
70 — — | = — | 817|327 |3.27 |3.37 |3.95|4.15 |4.23 | 4.43 | 5.12 |5.37 | 5.88 |6.13 | 7.36 | 7.81 | 8.94 | 9.39 |11.88|12.73
80 — — | — — | 3.41|3.51|3.53|3.63 |4.25|4.45|4.57|4.77 | 548 |5.73 | 6.32 |6.57 | 7.84 |8.29 | 9.56 |10.01|12.56|13.41
90 = = | = — |3.65|3.75|3.79 |3.89 {455 | 4.75 491 |5.11 | 5.84 |6.09 | 6.76 | 7.01 | 8.32 |8.77 |10.1810.63|13.24|14.09
100 | — — | — — |3.89]3.99|4.05|4.15 |4.85|5.05|5.25|5.45|6.20 |6.45 | 7.20 | 7.45 | 8.80 |9.25 |10.80|11.25|13.92|14.77

X R AT ; B AT e

B {1 kg
fiakEd @32 240 @50 263 280
L HCF HCF HCF HCF HCF HCF HCF HCF HCF

732 D |BD|GLGR| D |BD|GLGR| D |BD |GLGR| D | BD |GLGR| D | BD |GLGR| D | BD [GLGR| D | BD [GLGR| D | BD [GLGR| D | BD |GLGR

5 ]1.89(2.06| 1.97 |1.90(2.07 | 1.99 |2.37|2.71| 2.54 |2.45|2.79| 2.62 | 3.22|3.65| 3.44 (3.63|4.05| 3.84 |4.85|5.61| 5.23 |5.59|6.35| 5.98 |10.18|11.63| 10.90

10 |1.89(2.06| 1.97 |1.90 (2.07 | 1.99 |2.37|2.71| 2.54 (2.45|2.79| 2.62 | 3.22|3.65 | 3.43 |3.62|4.05| 3.84 |4.83|5.59 | 5.21 |5.58|6.34 | 5.96 |10.15|11.60| 10.88

15 |2.11|2.28| 2.20 |2.14|2.31| 2.23 |2.66|3.00| 2.83 |2.77|3.11| 2.94 | 3.58|4.00 | 3.79 |4.05|4.47| 4.26 |5.32|6.08| 5.70 |6.18|6.95| 6.57 (10.87|12.31| 11.59

20 |2.11|2.28| 220 (2.14|2.31| 2.23 |2.66|3.00| 2.83 |2.77|3.11| 2.94 |3.57|4.00| 3.79 |4.04|4.47| 4.26 |5.30|6.07| 5.68 |6.17|6.93| 6.55 [10.84|12.28| 11.58

25 |2.34|251| 2.42 |2.38|2.55| 2.47 |2.94|3.28| 3.11 |3.09|3.43| 3.26 |3.93|4.36 | 4.14 |4.47|4.90| 4.68 |5.79|6.56| 6.17 |6.78|7.54| 7.16 |11.55|12.99| 12.27

30 |[2.34|251| 2.42 (2.39|2.56| 2.47 [2.95|3.29| 3.12 |3.10|3.44| 3.27 |3.93|4.35| 4.14 |4.47|4.89| 4.68 |5.77 |6.54| 6.15 |6.76|7.52| 7.14 |11.52|12.97| 12.25

35 |2.56(2.73| 2.65 |2.63|2.80| 2.71 |3.23|3.57| 3.40 |3.42|3.76| 3.59 |4.28|4.71| 4.50 |4.89|5.32| 5.10 |6.26|7.03| 6.64 |7.37|8.13| 7.75 |12.23|13.68| 12.96

40 |2.56(2.73| 2.65 |2.63|2.80| 2.71 |3.23|3.57| 3.40 |3.42|3.76| 3.59 |4.28|4.71| 4.49 |4.89(5.31| 5.10 |6.24|7.01| 6.63 |7.35|8.11| 7.73 |12.21|13.65| 12.93

45 |2.79|2.96| 2.87 |2.87(3.04| 2.95 [3.52|3.86| 3.69 |3.74|4.08| 3.91 | 4.64|5.06 | 4.85 |5.31|5.74| 5.52 |6.73|7.50| 7.12 | 7.96|8.72 | 8.34 |12.92(14.35| 13.64

50 |[2.79|2.96| 2.87 (2.87 |3.04| 2.96 |3.52|3.86| 3.69 |3.74|4.08| 3.91 |4.63|5.06 | 4.85 |5.31|5.73| 5.52 |6.72|7.48| 7.10 |7.94|8.71| 8.32 |12.89(14.34 13.61

60 |3.01/3.18/310| — | — | — |3.81{4.15/3.98| — | — | — |4.99|541|520 | — | — | — |7.19|7.95| 757 | — | — | — |1358/15.02|14.30
70 |3.24|3.41(332| — | — | — |4.10|4.44| 427 | — | — | — |5.34|5.76|555 | — | — | — |7.66|8.43|8.04 | — | — | — |14.26/15.70 14.98
80 (346363355 — | — | — [4.39|4.73| 456 | — | — | — |569|6.12|591 | — | — | — |8.13|8.90|{ 852 | — | — | — |14.94|16.39 15.67
90 |(3.69|3.86|377| — | — | — |4.67|5.01|484| — | — | — |6.05/6.47|6.26 | — | — | — [8.61|9.37{8.99 | — | — | — |15.63/17.07|16.35
100 |3.91|4.08/ 400 | — | — | — |4.96/530(513| — | — | — |6.40(6.82|661 | — | — | — [9.08/9.84| 946 | — | — | — |16.31(17.76/ 17.03

% D:#RZ ; BD: #5F ; GL,GR: EE/HF » E—BRF



B2 I

~
-
4

HC %% — HE

RIFfTIEBAER

O RETERBR

100

100

90

90

80

80

70

70

60

60

50

50

45

45

40

40

35

35

30

30

25

25

20

20

15

15

10

10

@20
@25
@232
240
@50
263
280
232
240
@250
263
280
@232
@40
@50
763
280

712

@32
240
@50
263
@32
240
@250
263
@232
@40
@50
263

aREY

HCF
HCF - B
HCF - D
HCF - BD
HCF - GL
HCF - Z
HCF-B-Z
HCF - L
HCF-B - L

B

HCS
HCS-B
HCS -D
HCS - BD
HCS - GL
HCS - GR
HCS-Z
HCS-B-Z
HCS-L
HCS-B-L

C EE

© HCS fllm%gay

© HCF #mZ&gtal



HC &% — & hERET
THEBRIEMMEE

O EEaRTEAN
HCSKl;l HCSK;'D
AR T EIEE FAREd TEHSIEE
20 |HCFSK20 -8%&No.6,7,8,9,10 32 |HCFSK32D ' HCSSK32D-8%No0.6,7,8,9,10
25 |HCFSK25 -2%ENo0.6,7,8,9,10 40 |HCFSK40D ' HCSSK40D-2ENo0.6,7,8,9,10
32 |HCFSK32 ' HCSSK32 -#%No.6,7,8,9,10 50 |HCFSK50D * HCSSK50D-2%No.6,7,8,9,10
40 |HCFSK40 ' HCSSK40 -8%No.6,7,8,9,10 63 |HCFSK63D 'HCSSK63D-2%No0.6,7,8,9,10
50 |HCFSK50 ' HCSSK50 -8%No.6,7,8,9,10 80 |HCFSK80D -8%No.6,7,8,9,10
63 |HCFSK63 ' HCSSK63 -2%No.6,7,8,9,10
80 |HCFSK80 -8%No.6,7,8,9,10
Q HCF #!
= ?? P / ??? /
LY /®
. '-’i'au—-.l_ /
CEHRBERYE
R 5 EH HE | &R EH HE | &R EB HE
01 CIE 1 05 1EATHERA 1 09 LES) 1
02 R4S 1 06 AEBR 1 10 BIEORIE
03 JEEARE 1 07 SEEORIE 1 1
04 EER 1 08 TREEEIRIER 1 12
OHCF-D &
HCS - D #
T oleleltlelolol @@@@g@ ®
8
I 1]
— N B i
CEHBBRYE
iR 5 EB $HE i 5 == HE | &R EB e
01 CIES 2 05 1EATHERA 2 09 i) 2
02 REIARE 1 06 EE-SEE S 1 10 BIEORIR 2
03 EEANE 1 07 JEEORIR 2 1
04 JEER 1 08 TREEEIRIER 2 12




HC &% — & hERET
THEBRIEMMEE

C EEBRIEAR

HC SK;'Z

FiKEd EIMHEES
32 | HCFSK32Z HCSSK32Z -8%No0.6,7,8,9,10
40 | HCFSK40Z,HCSSK40Z -8&N0.6,7,8,9,10
50 | HCFSK50Z,HCSSK50Z -8%No0.6,7,8,9,10
63 | HCFSK63ZHCSSK63Z -8%N0.6,7,8,9,10
80 | HCFSK80Z -8%No.6,7,8,9,10

O HCF - Z & : OJFf17# 25mm
HCF - L # : TOJ:f{17%# 50mm

HC SKl;lL

Py

EIMHEIEE
32 | HCFSK32L HCSSK32L -8%No0.6,7,8,9,10
40 | HCFSK40LHCSSK40L -2ZNo.6,7,8,9,10
50 | HCFSK50L,HCSSK50L -8&No.6,7,8,9,10
63 | HCFSK63L HCSSK63L -B%N0.6,7,8,9,10
80 | HCFSK80L -85No.6,7,8,9,10

Nidketeo

()

_____________ L
OHCS - Z & : T[Fff1T# 25mm
HCS - L & : aJii17% 50mm
Q@? P RRLPH /@/@
N _
CEHRBRYE
4 5 p=g=| HE | HIR p=g=| HE | &R p=g=| H=E
01 EIE 2 05 IEfTi2A4 2 09 L) 2
02 REIARE 1 06 EEEE 1 10 BSO8R
03 JEEARE 1 07 JEEORIR 2 11
04 JRER 1 08 TR EEIRIER 2 12




HCF &% — FEVHEEL wowsewn)

SMEREIR:R~F — HCF - 320 ~ @80

O HCF OHCF -D

4-OKEE
2-PT MIRGMEH JRI 2-PT

@D

X |P+HT®E| v CL CL Y  PP+{TiE| v CcL
B+{Ti2 c OF C BB+{Ti2 CS+{T#2
A+HTTE OE AL+{THEx2
4-OKEZ
2-PT MIHOMEH 2-PT
KY KY
N ——
o =-—- 3 KX fe=——= 3 KX
I
M
n:T 71 —T
i — | ol Q }» O’ o)
= ole °
+ (-
A
I I p—
L | — 1|
X_|P+{T12 Y CL PPWﬂE‘ Y cL
B+Ti2 Cc | _OoL BB+{Ti2 CS+Tig oL
A+TIE AL+{TEx2
4-OKBE
MHRIMIEH

G| A | B| P |AL|BB|CS|PP

@20 | 51|43 |10 | — | — | — | —

@25 |63 |45 |12 | — | — | — | —

@32 |64 | 54|14 | 89 |69 | 10 | 13

@40 | 65 | 55|15 | 90 | 70 | 10 | 14
cL v Pwﬁz} Y cL @50 | 71|60 |18 |97 |75 | 11 | 16

oL |¢c BB+TE cs+iRe @63 | 80 | 67 | 20 | 108 | 82 | 13 | 20

AL+{THEx2 @80 | 95 | 78 | 27 |127 | 93 | 17 | 27

fI® |C|CL|D | E | F | H J J1| K |[KX|KY| M 0 oL PT R |SW| X | Y
@20 | 8 | 6 |12 | 42 | 30 |55 |M8x1.25P | 10 (56|17 | 6 | 9 |M10x1.25P| 20 | PT 1/8 5 |10 | 10 | 23
@25 | 8 | 6 |14 | 48 | 36 |55 |M10x1.5P | 12 (56 (19 | 7 | 9 |M12x1.25P| 22 | PT 1/8 5 |12 |10 | 23
@32 | 10| 7 | 20| 62 | 47 |6.5 |M12x1.75P | 15 | 6.6 |24 | 8 | 11 |M16x1.5P |25 | PT1/4 |10 |17 |12 | 28
@40 |10 | 7 [ 25|70 | 52 | 9 |M16x2.0P | 20| 9 |32 |10 |14 |M22x1.5P |30 | PT1/4 |10 |22 |12 | 28
@50 | 11| 8 |30 |80 | 58 | 11 |[M20%x2.5P | 25 | 11 |35 | 14 | 18 |M26x1.5P | 35 | PT1/4 |10 | 27 |12.5|29.5
@63 |13 (10|35 | 94 | 69 | 13 |[M27x3.0P | 35 | 13 | 41| 13 | 20 [M30x1.5P | 40| PT3/8 |10 |32 |16 | 31
@80 |17 |14 |45 114 | 86 | 15 [M30x3.5P | 35 | 15 | 50 | 10 | 22 |M39x1.5P | 45| PT3/8 |15 | 41|18 | 33

[[] & srmermmagnia -



HCS % — FEHEE mmzen)
SMEREIR:R~F — HCS - 932 ~ 963

C S EBR~
C HCS CHCS-D
__,Fc, FBHTiE_ 20 20 | FF+{Tig FG
| | | | 2-PT
2-PT $ $ ; ;;;
&
—X——fﬁ—@a g 5 3 & E@Ig@_._.a}
T T T T
‘ X_|P+HII2| Y ‘ ‘ Y _|PPHTRE| Y
4-OKBZ 4-OKEZ
OMEH / SEH OMZEH /
| o 1 — / |
1|1 I I I I 1|1
I I T I I T 1 I I Y
| I =) B -y Ll a T 1 Y IR a
Tl . i Il ° i H .
I I | T I I T I I
I RIS E g 1
< 2 L ! - g i i
3$ sSwW 3?
KBHTI2 |[KW| KA cL KL cL KA _[Kw| KK+{Ti2 CcL
B+17i2 c [« BB+{T72 CS+17i8
. AL+{TiEx2
Y A B FB | KB P |AL | BB | CS | FF | KK | PP C CL | D EA |EB | FA | FC | FG
@32 64 54 24 14 14 89 | 69 10 32 29 13 10 7 20 70 | 56 56 10 17
@40 65 55 23 15 15 90 | 70 10 32 30 14 10 7 25 80 | 64 62 12 18
@50 71 60 27 17 18 97 | 75 11 35 32 16 1 8 30 94 | 74 74 13 20
263 80 67 32 20 20 | 108 | 82 13 42 35 20 13 10 | 35 114 | 89 90 15 20
il H J JH K KA KL | KT | KW | LH M PT R SW U X Y
@32 9 M12x1.75P 15 9 28 63 8 12 25 14 PT 1/4 10 17 4.5 12 28
@40 " M16x2.0P 20 11 28 70 8 12 29 18 PT 1/4 10 22 4.5 12 28
@50 13 | M20x2.5P 25 13 29 80 9 14 34 20 PT 1/4 10 27 5 125 | 29.5
263 15 M27x3.0P 35 15 31 100 10 16 42 22 PT 3/8 10 32 B 16 31

HFREREFGEBAR -




HCS % — FEHEEL oz

SMEREIR:R~F — HCS - 932 ~ 963

C S ERY
OHCS-B

FC, FB+Ti2

R

FA

EA

KY

QC HCS - BD

20 = FF+{Ti2

FG

2-PT

EA

FA

:
5

KY

PP+{Tig|

- ‘ — ;

[ I [ 1 1 [

[N 1 @ [N 1 1 [N

I O N _ ] ' L a R N L

T HM""“T KR gy e 2 CEL

I I T I I I I

i Il - i i Il i

L\!\M\U j!\ i \!r o] ‘“‘Z \1\ 4
:t 2 swW 3?
KB+HTIZKW| KA CL KL CL KA  [KW| KK+Tig CL
B+1{Tig c| oL OL | C BB+{Ti2 CS+Tig oL
A+1TR8 AL+{TiEx2

il & A B FB | KB | P AL |BB|CS|FF | KK | PP | C |CL| D |EA|EB |FA | FC |FG | H
@32 64 | 54 24 |14 |14 | 89 |69 | 10 | 32 | 29 13 | 10 7 20 | 70 | 56 | 56 | 10 17 9
240 65 | 55 23 |15 |15 | 90 |70 | 10 | 32 | 30 14 |10 | 7 25 | 80 | 64 | 62 | 12 18 "
@50 71| 60 27 |17 |18 | 97 |75 | 11 | 35 | 32 16 | 11 30 | 94 | 74 | 74 | 13 | 20 | 13
263 80 | 67 32 | 20 |20 | 108 |82 | 13 |42 | 35 | 20 |13 | 10 | 35 |114 | 90 | 90 | 15 | 20 | 15
il K KA | KL | KT | KW | KX | KY | LH M (@) oL PT R [SW| U X Y
@32 9 28 63 12 24 8 25 14 | M16x1.5P| 25 PT 1/4 10 17 | 45 | 12 | 28
@40 " 28 70 12 32 10 29 18 | M22x1.5P| 30 PT 1/4 10 | 22 | 45 | 12 | 28
@50 13 29 80 14 35 14 34 20 | M26x1.5P| 35 PT 1/4 10 | 27 5 [125|29.5
263 15 31 100 | 10 16 41 13 | 42 22 | M30x1.5P | 40 PT 3/8 10 | 32 | 55 | 16 | 31

(1] & :meseammsn P6-13.49 - FREREHALBAR -




HCS &% — FEHEEL aozsen)

SVEREIR: R~ — HCS 932 ~ 963

QHCS - GR
20 FF+{T#2 FG
i i 2-PT
3
3 £ E-@\f% i@ ------ 7
e o
‘ Y _[PPHTRE Y ‘ 4-OKBE
SR ‘ ‘ ‘ PMEH
- a ; ‘/
I I I I
I I @ 11 I
i > Ll i nl 74) I I N ____%2 L }Ot DL
I N « N N 8
Il iz \ﬁ il
| ‘ | | ‘ | ! | ‘ |
Lo | 3 | - l; i M LIl 3
|SW | cL KA ‘KW‘ KK+ _| — oL | SW|
KL c BB+{Ti2 Cs+72 _| oL
AL+Tigx2
QCHCS-GL 20 _FFHTR _, FG
. . 2-PT
5 & 2 @E@ = l%@ ----- |
m
KY ‘ Y PP+ﬁii‘ Y ‘ 4-OKEZ
/ OMEH JSRIH
- 1 —t ; ; o 1 —
i i A 1] i i 1]
1 25 \ 1! o ——— I I I I
N/ L T ] L
ol @> [ Y8 ot > J\"ﬁ ol éa g{ ol I
Il iz Il Il Il Il
\‘\ f \‘\ - I \‘\ \‘\ \‘\
j‘\ 3 “F L ‘“;X; Ll 4 ‘I“ 3 “F
| Sw | cL KA ‘KW‘ KK+TTE J cL =l
KL oL_| ¢ BB+TIE Cs+Ti2
il AL | BB CS FF | KK PP C CL D EA EB FA FG H J JH
@32 89 69 10 32 29 13 10 20 70 56 56 17 9 M12x1.75P | 15
@40 90 70 10 32 30 14 10 25 80 64 62 18 11 M16x2.0P 20
@50 97 75 11 35 32 16 1" 30 94 74 74 20 13 | M20x2.5P 25
263 108 82 13 42 35 20 13 10 35 114 89 90 20 15 M27x3.0P 35
FRES K KA KL | KT | KW | KX | KY | LH M (0} oL PT R SW| U Y
@32 9 28 63 12 24 8 25 14 | M16x1.5P | 25 PT 1/4 10 17 | 45 | 28
@40 11 28 70 12 32 10 29 18 | M22x1.5P | 30 PT 1/4 10 22 | 45 | 28
@50 13 29 80 14 35 14 34 20 | M26x1.5P | 35 PT 1/4 10 27 5 | 295
263 15 31 100 10 16 41 13 42 22 M30x1.5P | 40 PT 3/8 10 32 5.5 31

i OFREREFRASEBAR -




HCF &% — HEVHEET smwen)

SVEREIR:R~F — HCF-Z / HCF-BZ @32 ~ @80

O HCF - Z ( #8178 25mm )

4-OKEZ

MR@MIEH

O HCF - B - Z ( @JF{7% 25mm )

2-PT

CL

PP+1ﬁ§J Y T2

NA

BB+{T12

HA+T#2

ZA+{TiEX2

4-OKEE
MIHIMEH
KY
KX
JEE:
cL Y PP+{Tg| Y 172 NA
oL | C BB+{T12 HA+{T#2
OE ZA+HTIEX2

irl R ZA | BB PP HA C CL D E F H J Ji K KX | KY
@32 138 69 13 59 10 7 20 62 47 6.5 |M12x1.75P 15 6.6 24 8
240 148 70 14 68 10 7 25 70 52 9 M16x2.0P 20 9 32 10
@50 156 75 16 70 11 8 30 80 58 11 M20x2.5P 25 11 35 14
263 173 82 20 78 13 10 35 94 69 13 M27x3.0P 35 13 41 13
280 192 93 27 82 17 14 45 114 86 15 M30x3.5P 35 15 50 10
il 1% M Ml MA MB NA 0 oL PT R Sw Y
@32 11 46 46 36 49 M16x1.5P 25 PT 1/4 10 17 28
240 14 55 54 36 58 M22x1.5P 30 PT 1/4 10 22 28
@50 18 60 53 37 59 M26x1.5P 35 PT 1/4 10 27 29.5
763 20 75 63 39 65 M30x1.5P 40 PT 3/8 10 32 31
@80 22 90 70 43 65 M39x1.5P 45 PT 3/8 15 41 33

B THEREFA =

H FEEREFZEGEBAE -




HCF &% — HEVHEET smwen)

SVEREIR:R~F — HCF- L/ HCF - BL @32 ~ @80

C HCF - L ( @J3ff7%& 50mm )

4-OKBE
IROMEH

CHCF -B - L (O#f{7# 50mm )

4-OKEZ

PlmOMIEH

@D

CL

2-PT

ME

MF

PP+{T#2
|

712

=

oMmI

NB

BB+1Ti2

HB+{T#2

ZB+{TiEx2

CL

2-PT

ME

712

"7
oM

NB

PP+??EJ Y

oL_|¢ BB+{T#2 HB+{Tig
OE ZB+{TiEx2
filEEY ZB BB PP HB C CL D E F H J J1 K KX KY
@32 163 69 13 84 10 7 20 62 47 6.5 |M12x1.75P| 15 6.6 24 8
240 173 70 14 93 10 7 25 70 52 9 |M16x2.0P 20 9 32 10
750 181 75 16 95 " 8 30 80 58 11 |M20%x2.5P 25 1" 35 14
263 198 82 20 103 13 10 35 94 69 13 | M27x3.0P 35 13 41 13
280 217 93 27 107 17 14 45 114 86 15 | M30x3.5P 35 15 50 10
[iRES M Ml ME MF NB (6] oL PT R SW Y
@32 1 46 71 61 74 M16x1.5P 25 PT 1/4 10 17 28
@40 14 55 79 61 83 M22x1.5P 30 PT 1/4 10 22 28
750 18 60 78 62 84 M26x1.5P 35 PT 1/4 10 27 29.5
263 20 75 88 64 90 M30x1.5P 40 PT 3/8 10 32 31
@80 22 90 95 68 90 M39x1.5P 45 PT 3/8 15 41 33

[[] & sememmmagnAn -




HCS % — FEHEEL oz

SVEREIR:R~F — HCS-Z /| HCS - BZ @32 ~ @63

O HCS - Z (TR 25mm )

20

FF+IE _, FG

EA

EB

oMl

c BB+{Ti2

HA+T#2

ZA+{TiEX2

OHCS - B - Z (E[/{7# 25mm )
20 FF+{Ti2 FG

I 2-PT

1L %@gﬂg
K | PPJ'ﬁEJ‘ Y | 4oKER MA
/ OMEH VB
1 —
PN il
o 7\‘mm °|°37* 117 IR X Y W —
N |
Ll s n s 1l i 5
|sw| £ ol
KL cL KA _[KW| KK+{T#2 712 NA
o_|c BBHTR HA+(TI2
ZA+TIEX2
fI 8 | zZA |BB| FF |KK|PP|HA| C |CL| D |EA|EB |FA |FG | H J JH | K | KA| KL
@32 (138 | 69 | 32 | 29 | 13 | 59 | 10 20 | 70 | 56 | 56 | 17 9 M12x1.75P 15 28 | 63
@40 148 | 70 | 32 | 30 | 14 | 68 | 10 25 | 80 | 64 | 62 | 18 1 M16x2.0P 20 | 11 28 | 70
750 156 | 75 | 35 | 32 16 | 70 1 30 | 94 | 74 | 74 | 20 13 M20x2.5P 25 |13 | 29| 80
763 173 | 82 | 42 | 35 | 20| 78 | 13 | 10 | 35 | 114 | 89 | 90 | 20 15 M27x3.0P 35 | 15 31 | 100
FL 18 | KT | KW | KX | KY | LH M Ml | MA | MB | NA (6] oL PT R |SW| U Y
@232 12 24 8 25 14 46 46 36 49 |M16x1.5P | 25 PT 1/4 10 | 17 | 45| 28
@240 12 32 10 29 18 55 54 36 58 |M22x1.5P | 30 PT 1/4 10 | 22 | 45| 28
@50 14 35 14 34 20 60 53 37 59 |M26x1.5P | 35 PT 1/4 10 | 27 5 1295
763 10 16 41 13 42 22 75 63 39 65 |M30x1.5P | 40 PT 3/8 10 | 32 | 55 | 31

i FRERERHEEBAE -




HCS &% — R HEET pmzzn)

SVEREIR:R~F — HCS-L/HCS-BL @32 ~ @63

CHCS - L (TIF#{74E 50mm )

EB

CHCS-B-L (TIF{T#E 50mm )

EA

FA

9D
—

4 KEZ
MiEH

ME

MFE

|

|
—_———

|

|

|

i

KT

CL

KW|

BB+ 1712

KK+ 1782 |

R

1718

NB

HB+ {772

ZB+1TRE X2

20 FF+{7#2  FG

2-PT

R

&
O

5| 5| %@—[
o
KY \ Y _lpesrl v ‘ 4o KEZ e
/@ MiEH
MF
i i i i
TNl i ——
a | Il °|°? N _ I <

il i i N ik o

I 1ol hand (| (N

L] L ME L] 4

g D*
CL KA _[KW| KK+ {775, 1712 NB
oL_|C BB+ {772 HB+ 1712
ZB+ {778 x2

il = | zB | BB KK|PP|HB| C |CL| D |EA|EB | FA|FG | H J JH| K | KA | KL
@32 183 | 69 29 | 13 | 84 | 10 20 | 70 | 56 | 56 | 17 9 M12x1.75P 15 9 28 | 63
240 173 | 70 30 | 14 | 93 | 10 25 | 80 | 64 | 62 | 18 | 11 M16x2.0P 20 | 11 | 28 | 70
@50 181 | 75 32 |16 | 95 | 11 30 | 94 | 74 | 74 | 20 | 13 M20x2.5P 25| 13 | 29 | 80
263 198 | 82 35 |20 {103 | 13 | 10 | 35 | 114 | 89 | 90 | 20 | 15 M27x3.0P 35 | 15 | 31 | 100
I 18 | KT | KW KY | LH M Ml | ME | MF | NB (o} oL PT R |SW| U Y
232 12 8 25 14 46 71 61 74 | M16x1.5P | 25 PT 1/4 10 | 17 | 45 | 28
240 12 10 29 18 55 79 61 83 | M22x1.5P | 30 PT 1/4 10 | 22 | 45 | 28
@50 14 14 34 20 60 78 62 84 | M26x1.5P | 35 PT 1/4 10 | 27 5 |29.5
263 10 16 13 42 22 75 88 64 90 | M30x1.5P | 40 PT 3/8 10 | 32 | 55 | 31
[[] & srmesmmagnis -




	HC
	3.0-B_部分819
	3.0-B_部分820
	3.0-B_部分821
	3.0-B_部分822
	3.0-B_部分823

	3.0-B_部分824
	3.0-B_部分825
	3.0-B_部分826
	3.0-B_部分827
	3.0-B_部分828
	3.0-B_部分829
	3.0-B_部分830
	3.0-B_部分831

